
X-sect = 0.000E+00(pb)   AVG = 9.900E-01   RMS = 0.000E+00
Tot # Evts =   49991  Entries =   49991  Undersc =     0  Over

 X-sect = 6.457E+01(pb)   AVG = 9.900E-01   RMS = 0.000E+00 
 Tot # Evts =   49994  Entries =   49994  Undersc =     0  Ove



X-sect = 0.000E+00(pb)   AVG = 2.427E+00   RMS = 1.409E+00
Tot # Evts =   49991  Entries =   49989  Undersc =     0  Over

 X-sect = 6.457E+01(pb)   AVG = 2.280E+00   RMS = 1.330E+00 
 Tot # Evts =   49994  Entries =   49994  Undersc =     0  Ove



X-sect = 0.000E+00(pb)   AVG = 5.828E-01   RMS = 6.704E-01
Tot # Evts =   49991  Entries =   49991  Undersc =     0  Over

 X-sect = 6.457E+01(pb)   AVG = 5.573E-01   RMS = 6.580E-01 
 Tot # Evts =   49994  Entries =   49994  Undersc =     0  Ove



X-sect = 0.000E+00(pb)   AVG = 1.648E+00   RMS = 8.526E-01
Tot # Evts =   49991  Entries =   49991  Undersc =     0  Over

 X-sect = 6.457E+01(pb)   AVG = 1.627E+00   RMS = 8.449E-01 
 Tot # Evts =   49994  Entries =   49994  Undersc =     0  Ove



X-sect = 0.000E+00(pb)   AVG = 2.608E-01   RMS = 5.009E-01
Tot # Evts =   49991  Entries =   49991  Undersc =     0  Over

 X-sect = 6.457E+01(pb)   AVG = 2.520E-01   RMS = 4.938E-01 
 Tot # Evts =   49994  Entries =   49994  Undersc =     0  Ove



X-sect = 0.000E+00(pb)   AVG = 6.205E-02   RMS = 2.524E-01
Tot # Evts =   49991  Entries =   49991  Undersc =     0  Over

 X-sect = 6.457E+01(pb)   AVG = 6.293E-02   RMS = 2.539E-01 
 Tot # Evts =   49994  Entries =   49994  Undersc =     0  Ove



X-sect = 0.000E+00(pb)   AVG = 3.808E+02   RMS = 1.926E+02
Tot # Evts =   49991  Entries =   48347  Undersc =     0  Over

 X-sect = 6.457E+01(pb)   AVG = 3.165E+02   RMS = 1.265E+02 
 Tot # Evts =   49994  Entries =   49875  Undersc =     0  Ove



X-sect = 0.000E+00(pb)   AVG = 8.348E+01   RMS = 4.825E+01
Tot # Evts =   49991  Entries =   48512  Undersc =     0  Over

 X-sect = 6.457E+01(pb)   AVG = 7.383E+01   RMS = 3.960E+01 
 Tot # Evts =   49994  Entries =   49819  Undersc =     0  Ove



X-sect = 0.000E+00(pb)   AVG = 9.806E+01   RMS = 7.083E+01
Tot # Evts =   49991  Entries =   46507  Undersc =     0  Over

 X-sect = 6.457E+01(pb)   AVG = 7.783E+01   RMS = 4.718E+01 
 Tot # Evts =   49994  Entries =   46701  Undersc =     0  Ove



X-sect = 0.000E+00(pb)   AVG = 5.726E+01   RMS = 4.814E+01
Tot # Evts =   49991  Entries =   36751  Undersc =     0  Over

 X-sect = 6.457E+01(pb)   AVG = 4.541E+01   RMS = 3.166E+01 
 Tot # Evts =   49994  Entries =   35400  Undersc =     0  Ove



X-sect = 0.000E+00(pb)   AVG = 3.464E+01   RMS = 2.781E+01
Tot # Evts =   49991  Entries =   21488  Undersc =     0  Over

 X-sect = 6.457E+01(pb)   AVG = 2.888E+01   RMS = 1.917E+01 
 Tot # Evts =   49994  Entries =   19447  Undersc =     0  Ove



X-sect = 0.000E+00(pb)   AVG = 9.683E+01   RMS = 7.083E+01
Tot # Evts =   49991  Entries =   23817  Undersc =     0  Over

 X-sect = 6.457E+01(pb)   AVG = 7.586E+01   RMS = 4.540E+01 
 Tot # Evts =   49994  Entries =   23320  Undersc =     0  Ove



X-sect = 0.000E+00(pb)   AVG = 6.714E+01   RMS = 5.397E+01
Tot # Evts =   49991  Entries =    4750  Undersc =     0  Over

 X-sect = 6.457E+01(pb)   AVG = 5.150E+01   RMS = 3.242E+01 
 Tot # Evts =   49994  Entries =    4381  Undersc =     0  Ove



X-sect = 0.000E+00(pb)   AVG = 6.853E+01   RMS = 5.307E+01
Tot # Evts =   49991  Entries =   46034  Undersc =     0  Over

 X-sect = 6.457E+01(pb)   AVG = 5.748E+01   RMS = 3.912E+01 
 Tot # Evts =   49994  Entries =   46032  Undersc =     0  Ove



X-sect = 0.000E+00(pb)   AVG = 3.299E+01   RMS = 3.010E+01
Tot # Evts =   49991  Entries =   28509  Undersc =     0  Over

 X-sect = 6.457E+01(pb)   AVG = 2.763E+01   RMS = 2.188E+01 
 Tot # Evts =   49994  Entries =   28055  Undersc =     0  Ove



X-sect = 0.000E+00(pb)   AVG = 1.392E+01   RMS = 1.286E+01
Tot # Evts =   49991  Entries =    6872  Undersc =     0  Over

 X-sect = 6.457E+01(pb)   AVG = 1.153E+01   RMS = 8.987E+00 
 Tot # Evts =   49994  Entries =    6486  Undersc =     0  Ove



X-sect = 0.000E+00(pb)   AVG = 4.724E+01   RMS = 3.892E+01
Tot # Evts =   49991  Entries =   11663  Undersc =     0  Over

 X-sect = 6.457E+01(pb)   AVG = 4.043E+01   RMS = 2.761E+01 
 Tot # Evts =   49994  Entries =   11301  Undersc =     0  Ove



X-sect = 0.000E+00(pb)   AVG = 2.681E+01   RMS = 3.471E+01
Tot # Evts =   49991  Entries =    2970  Undersc =     0  Over

 X-sect = 6.457E+01(pb)   AVG = 2.366E+01   RMS = 2.759E+01 
 Tot # Evts =   49994  Entries =    3015  Undersc =     0  Ove



X-sect = 0.000E+00(pb)   AVG =-1.750E-03   RMS = 7.930E-01
Tot # Evts =   49991  Entries =   24175  Undersc =     0  Over

 X-sect = 6.457E+01(pb)   AVG = 3.521E-03   RMS = 8.007E-01 
 Tot # Evts =   49994  Entries =   23346  Undersc =     0  Ove



X-sect = 0.000E+00(pb)   AVG =-4.634E-03   RMS = 8.096E-01
Tot # Evts =   49991  Entries =    4769  Undersc =     0  Over

 X-sect = 6.457E+01(pb)   AVG =-1.232E-02   RMS = 8.062E-01 
 Tot # Evts =   49994  Entries =    4382  Undersc =     0  Ove



X-sect = 0.000E+00(pb)   AVG =-9.394E-03   RMS = 1.586E+00
Tot # Evts =   49991  Entries =   47183  Undersc =     0  Over

 X-sect = 6.457E+01(pb)   AVG =-6.116E-03   RMS = 1.638E+00 
 Tot # Evts =   49994  Entries =   46762  Undersc =     0  Ove



X-sect = 0.000E+00(pb)   AVG =-2.750E-03   RMS = 1.769E+00
Tot # Evts =   49991  Entries =   36815  Undersc =     0  Over

 X-sect = 6.457E+01(pb)   AVG = 2.436E-03   RMS = 1.804E+00 
 Tot # Evts =   49994  Entries =   35401  Undersc =     0  Ove



X-sect = 0.000E+00(pb)   AVG =-7.992E-03   RMS = 1.906E+00
Tot # Evts =   49991  Entries =   21489  Undersc =     0  Over

 X-sect = 6.457E+01(pb)   AVG =-6.029E-03   RMS = 1.943E+00 
 Tot # Evts =   49994  Entries =   19447  Undersc =     0  Ove



X-sect = 0.000E+00(pb)   AVG =-1.603E-03   RMS = 8.010E-01
Tot # Evts =   49991  Entries =   24175  Undersc =     0  Over

 X-sect = 6.457E+01(pb)   AVG = 3.427E-03   RMS = 8.072E-01 
 Tot # Evts =   49994  Entries =   23346  Undersc =     0  Ove



X-sect = 0.000E+00(pb)   AVG =-8.440E-03   RMS = 8.147E-01
Tot # Evts =   49991  Entries =    4769  Undersc =     0  Over

 X-sect = 6.457E+01(pb)   AVG =-1.643E-02   RMS = 8.104E-01 
 Tot # Evts =   49994  Entries =    4382  Undersc =     0  Ove



X-sect = 0.000E+00(pb)   AVG =-7.432E-02   RMS = 8.055E-01
Tot # Evts =   49991  Entries =     185  Undersc =     0  Over

 X-sect = 6.457E+01(pb)   AVG = 2.692E-02   RMS = 8.182E-01 
 Tot # Evts =   49994  Entries =     130  Undersc =     0  Ove



X-sect = 0.000E+00(pb)   AVG =-4.949E-03   RMS = 7.000E-01
Tot # Evts =   49991  Entries =   11669  Undersc =     0  Over

 X-sect = 6.457E+01(pb)   AVG =-3.805E-03   RMS = 6.983E-01 
 Tot # Evts =   49994  Entries =   11302  Undersc =     0  Ove



X-sect = 0.000E+00(pb)   AVG =-3.882E-03   RMS = 7.076E-01
Tot # Evts =   49991  Entries =    1288  Undersc =     0  Over

 X-sect = 6.457E+01(pb)   AVG = 1.765E-02   RMS = 7.165E-01 
 Tot # Evts =   49994  Entries =    1218  Undersc =     0  Ove



X-sect = 0.000E+00(pb)   AVG =-7.692E-02   RMS = 7.546E-01
Tot # Evts =   49991  Entries =      78  Undersc =     0  Over

 X-sect = 6.457E+01(pb)   AVG =-5.667E-02   RMS = 7.389E-01 
 Tot # Evts =   49994  Entries =      75  Undersc =     0  Ove



X-sect = 0.000E+00(pb)   AVG = 2.478E+00   RMS = 9.049E-01
Tot # Evts =   49991  Entries =   21626  Undersc =     0  Over

 X-sect = 6.457E+01(pb)   AVG = 2.519E+00   RMS = 9.080E-01 
 Tot # Evts =   49994  Entries =   20465  Undersc =     0  Ove



X-sect = 0.000E+00(pb)   AVG = 2.357E+00   RMS = 1.059E+00
Tot # Evts =   49991  Entries =    3486  Undersc =     0  Over

 X-sect = 6.457E+01(pb)   AVG = 2.417E+00   RMS = 1.056E+00 
 Tot # Evts =   49994  Entries =    3025  Undersc =     0  Ove



X-sect = 0.000E+00(pb)   AVG = 2.356E+00   RMS = 9.281E-01
Tot # Evts =   49991  Entries =   43182  Undersc =     0  Over

 X-sect = 6.457E+01(pb)   AVG = 2.337E+00   RMS = 9.516E-01 
 Tot # Evts =   49994  Entries =   42645  Undersc =     0  Ove



X-sect = 0.000E+00(pb)   AVG = 2.442E+00   RMS = 8.412E-01
Tot # Evts =   49991  Entries =   10698  Undersc =     0  Over

 X-sect = 6.457E+01(pb)   AVG = 2.444E+00   RMS = 8.622E-01 
 Tot # Evts =   49994  Entries =   10205  Undersc =     0  Ove



X-sect = 0.000E+00(pb)   AVG = 2.387E+00   RMS = 9.407E-01
Tot # Evts =   49991  Entries =    2726  Undersc =     0  Over

 X-sect = 6.457E+01(pb)   AVG = 2.383E+00   RMS = 9.553E-01 
 Tot # Evts =   49994  Entries =    2727  Undersc =     0  Ove



X-sect = 0.000E+00(pb)   AVG = 2.139E+00   RMS = 8.483E-01
Tot # Evts =   49991  Entries =    4769  Undersc =     0  Over

 X-sect = 6.457E+01(pb)   AVG = 2.191E+00   RMS = 8.333E-01 
 Tot # Evts =   49994  Entries =    4382  Undersc =     0  Ove



X-sect = 0.000E+00(pb)   AVG = 2.157E+00   RMS = 8.741E-01
Tot # Evts =   49991  Entries =   22475  Undersc =     0  Over

 X-sect = 6.457E+01(pb)   AVG = 2.117E+00   RMS = 8.811E-01 
 Tot # Evts =   49994  Entries =   21680  Undersc =     0  Ove



X-sect = 0.000E+00(pb)   AVG = 2.075E+00   RMS = 8.619E-01
Tot # Evts =   49991  Entries =    4445  Undersc =     0  Over

 X-sect = 6.457E+01(pb)   AVG = 2.036E+00   RMS = 8.722E-01 
 Tot # Evts =   49994  Entries =    4087  Undersc =     0  Ove



X-sect = 0.000E+00(pb)   AVG = 2.143E+00   RMS = 7.366E-01
Tot # Evts =   49991  Entries =    5502  Undersc =     0  Over

 X-sect = 6.457E+01(pb)   AVG = 2.116E+00   RMS = 7.509E-01 
 Tot # Evts =   49994  Entries =    5094  Undersc =     0  Ove



X-sect = 0.000E+00(pb)   AVG = 2.008E+00   RMS = 7.402E-01
Tot # Evts =   49991  Entries =    1071  Undersc =     0  Over

 X-sect = 6.457E+01(pb)   AVG = 1.973E+00   RMS = 7.478E-01 
 Tot # Evts =   49994  Entries =     923  Undersc =     0  Ove



X-sect = 0.000E+00(pb)   AVG = 2.193E+00   RMS = 8.659E-01
Tot # Evts =   49991  Entries =    1429  Undersc =     0  Over

 X-sect = 6.457E+01(pb)   AVG = 2.198E+00   RMS = 8.877E-01 
 Tot # Evts =   49994  Entries =    1392  Undersc =     0  Ove



X-sect = 0.000E+00(pb)   AVG = 2.130E+00   RMS = 8.530E-01
Tot # Evts =   49991  Entries =     261  Undersc =     0  Over

 X-sect = 6.457E+01(pb)   AVG = 2.067E+00   RMS = 8.516E-01 
 Tot # Evts =   49994  Entries =     233  Undersc =     0  Ove



X-sect = 0.000E+00(pb)   AVG = 2.196E+00   RMS = 8.317E-01
Tot # Evts =   49991  Entries =   10026  Undersc =     0  Over

 X-sect = 6.457E+01(pb)   AVG = 2.199E+00   RMS = 8.319E-01 
 Tot # Evts =   49994  Entries =    9766  Undersc =     0  Ove



X-sect = 0.000E+00(pb)   AVG = 2.239E+00   RMS = 9.473E-01
Tot # Evts =   49991  Entries =    2523  Undersc =     0  Over

 X-sect = 6.457E+01(pb)   AVG = 2.230E+00   RMS = 9.493E-01 
 Tot # Evts =   49994  Entries =    2555  Undersc =     0  Ove



X-sect = 0.000E+00(pb)   AVG = 2.188E+00   RMS = 8.480E-01
Tot # Evts =   49991  Entries =     604  Undersc =     0  Over

 X-sect = 6.457E+01(pb)   AVG = 2.220E+00   RMS = 8.431E-01 
 Tot # Evts =   49994  Entries =     597  Undersc =     0  Ove



X-sect = 0.000E+00(pb)   AVG = 1.649E+02   RMS = 1.126E+02
Tot # Evts =   49991  Entries =   33809  Undersc =     0  Over

 X-sect = 6.457E+01(pb)   AVG = 1.470E+02   RMS = 1.016E+02 
 Tot # Evts =   49994  Entries =   33772  Undersc =     0  Ove



X-sect = 0.000E+00(pb)   AVG = 1.478E+02   RMS = 1.060E+02
Tot # Evts =   49991  Entries =   20213  Undersc =     0  Over

 X-sect = 6.457E+01(pb)   AVG = 1.297E+02   RMS = 9.621E+01 
 Tot # Evts =   49994  Entries =   18716  Undersc =     0  Ove



X-sect = 0.000E+00(pb)   AVG = 1.424E+02   RMS = 1.030E+02
Tot # Evts =   49991  Entries =    9391  Undersc =     0  Over

 X-sect = 6.457E+01(pb)   AVG = 1.246E+02   RMS = 9.483E+01 
 Tot # Evts =   49994  Entries =    7989  Undersc =     0  Ove



X-sect = 0.000E+00(pb)   AVG = 1.210E+02   RMS = 1.002E+02
Tot # Evts =   49991  Entries =   20617  Undersc =     0  Over

 X-sect = 6.457E+01(pb)   AVG = 1.073E+02   RMS = 9.102E+01 
 Tot # Evts =   49994  Entries =   18925  Undersc =     0  Ove



X-sect = 0.000E+00(pb)   AVG = 1.176E+02   RMS = 9.689E+01
Tot # Evts =   49991  Entries =    9513  Undersc =     0  Over

 X-sect = 6.457E+01(pb)   AVG = 1.037E+02   RMS = 8.936E+01 
 Tot # Evts =   49994  Entries =    8044  Undersc =     0  Ove



X-sect = 0.000E+00(pb)   AVG = 9.907E+01   RMS = 9.054E+01
Tot # Evts =   49991  Entries =    9648  Undersc =     0  Over

 X-sect = 6.457E+01(pb)   AVG = 9.000E+01   RMS = 8.455E+01 
 Tot # Evts =   49994  Entries =    8101  Undersc =     0  Ove



X-sect = 0.000E+00(pb)   AVG = 1.776E+02   RMS = 1.100E+02
Tot # Evts =   49991  Entries =   20146  Undersc =     0  Over

 X-sect = 6.457E+01(pb)   AVG = 1.561E+02   RMS = 9.658E+01 
 Tot # Evts =   49994  Entries =   20038  Undersc =     0  Ove



X-sect = 0.000E+00(pb)   AVG = 1.348E+02   RMS = 9.942E+01
Tot # Evts =   49991  Entries =    3420  Undersc =     0  Over

 X-sect = 6.457E+01(pb)   AVG = 1.203E+02   RMS = 9.167E+01 
 Tot # Evts =   49994  Entries =    3018  Undersc =     0  Ove



X-sect = 0.000E+00(pb)   AVG = 1.412E+02   RMS = 1.003E+02
Tot # Evts =   49991  Entries =   13774  Undersc =     0  Over

 X-sect = 6.457E+01(pb)   AVG = 1.218E+02   RMS = 8.803E+01 
 Tot # Evts =   49994  Entries =   12550  Undersc =     0  Ove



X-sect = 0.000E+00(pb)   AVG = 1.122E+02   RMS = 8.826E+01
Tot # Evts =   49991  Entries =    1998  Undersc =     0  Over

 X-sect = 6.457E+01(pb)   AVG = 9.774E+01   RMS = 7.880E+01 
 Tot # Evts =   49994  Entries =    1590  Undersc =     0  Ove



X-sect = 0.000E+00(pb)   AVG = 1.276E+02   RMS = 9.472E+01
Tot # Evts =   49991  Entries =    7120  Undersc =     0  Over

 X-sect = 6.457E+01(pb)   AVG = 1.076E+02   RMS = 8.005E+01 
 Tot # Evts =   49994  Entries =    5922  Undersc =     0  Ove



X-sect = 0.000E+00(pb)   AVG = 1.010E+02   RMS = 8.454E+01
Tot # Evts =   49991  Entries =     943  Undersc =     0  Over

 X-sect = 6.457E+01(pb)   AVG = 8.570E+01   RMS = 6.946E+01 
 Tot # Evts =   49994  Entries =     689  Undersc =     0  Ove



X-sect = 0.000E+00(pb)   AVG = 1.199E+02   RMS = 9.064E+01
Tot # Evts =   49991  Entries =    2999  Undersc =     0  Over

 X-sect = 6.457E+01(pb)   AVG = 1.001E+02   RMS = 7.825E+01 
 Tot # Evts =   49994  Entries =    2245  Undersc =     0  Ove



X-sect = 0.000E+00(pb)   AVG = 9.284E+01   RMS = 7.163E+01
Tot # Evts =   49991  Entries =     385  Undersc =     0  Over

 X-sect = 6.457E+01(pb)   AVG = 7.915E+01   RMS = 6.089E+01 
 Tot # Evts =   49994  Entries =     253  Undersc =     0  Ove



X-sect = 0.000E+00(pb)   AVG = 1.512E+02   RMS = 1.014E+02
Tot # Evts =   49991  Entries =   41878  Undersc =     0  Over

 X-sect = 6.457E+01(pb)   AVG = 1.287E+02   RMS = 8.466E+01 
 Tot # Evts =   49994  Entries =   42248  Undersc =     0  Ove



X-sect = 0.000E+00(pb)   AVG = 1.246E+02   RMS = 9.132E+01
Tot # Evts =   49991  Entries =   32930  Undersc =     0  Over

 X-sect = 6.457E+01(pb)   AVG = 1.054E+02   RMS = 7.594E+01 
 Tot # Evts =   49994  Entries =   31824  Undersc =     0  Ove



X-sect = 0.000E+00(pb)   AVG = 1.119E+02   RMS = 8.907E+01
Tot # Evts =   49991  Entries =   18930  Undersc =     0  Over

 X-sect = 6.457E+01(pb)   AVG = 9.497E+01   RMS = 7.558E+01 
 Tot # Evts =   49994  Entries =   17119  Undersc =     0  Ove



X-sect = 0.000E+00(pb)   AVG = 1.061E+02   RMS = 8.701E+01
Tot # Evts =   49991  Entries =    8590  Undersc =     0  Over

 X-sect = 6.457E+01(pb)   AVG = 9.025E+01   RMS = 7.564E+01 
 Tot # Evts =   49994  Entries =    7138  Undersc =     0  Ove



X-sect = 0.000E+00(pb)   AVG = 1.498E+02   RMS = 1.016E+02
Tot # Evts =   49991  Entries =    4559  Undersc =     0  Over

 X-sect = 6.457E+01(pb)   AVG = 1.282E+02   RMS = 8.123E+01 
 Tot # Evts =   49994  Entries =    4355  Undersc =     0  Ove



X-sect = 0.000E+00(pb)   AVG = 1.372E+02   RMS = 9.425E+01
Tot # Evts =   49991  Entries =   22057  Undersc =     0  Over

 X-sect = 6.457E+01(pb)   AVG = 1.114E+02   RMS = 6.971E+01 
 Tot # Evts =   49994  Entries =   21620  Undersc =     0  Ove


